STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **HIGHWAY DIVISION 13**

PROPOSAL

DATE AND TIME OF BID OPENING: NOVEMBER 2, 2022 AT 2:00 PM

CONTRACT ID:

12050832

WBS ELEMENT NO.: 36111.1.13

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BUNCOMBE, BURKE, MADISON, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

LOCATION:

VARIOUS

TYPE OF WORK: SIGN REPLACEMENT AND INSTALLATION UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BONDS ARE NOT REQUIRED.

NAME OF BIDDER

MUNDY

ADDRESS OF BIDDER

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

12050832

WBS Element:

36111.1.13

Description:

Sign Replacement and Installation Upon Request

County:

Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford and Yancey

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Mobilization, Type 1 (No Steel Required) for 1-5 Sign Assemblies	4	EA	41000,00	44000,00
2	SP	Mobilization, Type 1 (No Steel Required) for 6-14 Sign Assemblies	4	EA	4,200,00	\$ 4800,00
3	SP	Mobilization, Type 1 (No Steel Required) for 15 or More Sign Assemblies	4	EA	4,500,00	4 6000.00
4	SP	Mobilization, Type 2 (Steel Required) for 1-5 Sign Assemblies	4	EA	#1500.00	# 6000.00
5	SP	Mobilization, Type 2 (Steel Required) for 6-14 Sign Assemblies	4	EA	41800.00	47200.00
6	SP	Mobilization, Type 2 (Steel Required) for 15 or More Sign Assemblies	4	EA	# 2000.00	48000,00
7	902	Reinforced Concrete Sign Foundations	50	CY	\$ 950,00	447,500,00
8	902	Plain Concrete Sign Foundations	15	CY	# 350,00	48250.00
9	903	Supports, Breakaway Steel Beam	25,000	LB	# 8,00	\$ 200,000,00
10	903	Supports, Simple Steel Beam	5,000	LB	# 7.50	\$ 37,500.00
11	903	Supports, 3-LB Steel U-Channel	1,000	LF	# 14.00	# 14,000,00
12	903	Supports, 2-LB Steel U-Channel	100	EA	# 150,00	\$ 15,000,00
13	903	Supports, Wood	200	LF	# 25,00	\$ 5000,00
14	904	Sign Erection, Type D	10	EA	\$ 105.00	\$ 1050.00
15	904	Sign Erection, Type E	10	EA	# 105,00	
16	904	Sign Erection, Type F	10	EA		# 1050,00
17	904	Sign Erection, Type A (Overhead)	10	EA		# 17500.00
18	904	Sign Erection, Type B (Overhead)	10	EA	\$ 1800,00	# 18,000,00
19	904	Sign Erection, Type A (Ground Mounted)	70	EA	A 1000,00	470,000,00
20	904	Sign Erection, Type B (Ground Mounted)	40	EA	# 450,00	# 18,000,00
21	904	Sign Erection, Milemarkers	20	EA	\$ 50.00	\$ 1,000,00
22	904	Sign Erection, Overlay (Overhead)	10	EA	\$ 1800,00	\$ 18,000,00
23	904	Sign Erection, Overlay (Ground Mounted)	10	EA		\$ 7500,00
24	904	Sign Erection, Relocate Type A (Ground Mounted)	20	EA		# 13,000,00
25	904	Sign Erection, Relocate Type B (Ground Mounted)	20	EA		4,3,000,00
26	904	Sign Erection, Relocate Type D (Ground Mounted)	5	EA		\$ 575,00

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
27	904	Sign Erection, Relocate Type E (Ground Mounted)	5	EA	# 115.00	\$ 575.00
28	904	Sign Erection, Relocate Type F (Ground Mounted)	5	EA	# 115,00	\$ 575,00
29	SP	Sign Erection, Relocate Milemarker (Ground Mounted)	10	EA	# 150,00	
30	SP	Sign Erection, Relocate Logo to Panel	150	EA	4 150,00	# 22,500.00
31	SP	Sign Erection, Relocate Mileage to Panel	150	EA	# 150,00	7 22,500,00
32	904	Sign Erection, Reposition Overhead	10	EA	4 3300,00	# 33,000,00
33	904	Sign Erection, Logo to Panel	50	EA	\$ 125,00	A 6250,00
34	SP	Sign Erection, Mileage to Panel	50	EA	\$ 175.00	\$ 8750,00
35	904	Sign Erection, Logo Trailblazer	20	EA	\$ 195,00	4/ 3900,00
36	907	Disposal of Support, Steel Beam	40	EA	# 50,00	# 2000,00
37	907	Disposal of Support, Wood	20	EA	4 50,00	\$ 1000,00
38	907	Disposal of Sign System, Steel Beam	50	EA	4 200,00	\$ 10,000,00
39	907	Disposal of Sign System, U-Channel	20	EA	# 50,00	# 1,000,00
40	907	Disposal of Sign System, Wood	20	EA	# 50,00	# 1,000,00
41	907	Disposal of Support, U-Channel	100	EA	# 50,00	\$ 5,000,00
42	907	Disposal of Sign, A or B (Overhead)	40	EA	# 100,00	# 4,000,00
43	907	Disposal of Sign, A and B (Ground Mounted)	80	EA	# 100,00	# 8,000.00
44	907	Stockpile Sign, D, E, or F	40	EA	# 10.00	4 400,00
45	907	Stockpile Sign, Milemarker	20	EA	\$ 10.00	# 200,00
46	907	Disposal of Sign, D, E, or F	40	EA	\$ 5,00	\$1 200,00
47	907	Disposal of Sign, Milemarker	20	EA	4 5.00	# 100,00
48	907	Disposal of Sign, Overlay (Overhead)	10	EA	# 75.00	# 750,00
49	907	Disposal of Sign, Overlay (Ground Mounted)	10	EA	\$ 50,00	\$ 500,00
50	907	Disposal of Lighting System	6	EA	\$ 500,00	\$ 3000,00
51	907	Disposal of Walkway	2	EA	\$ 500,00	4 1000,00
52	SP	Cutting of Sign Hangers (Overhead)	50	EA	# 250,00	# 12500,00
53	SP	Removal of Existing Sign Foundations (Ground Mounted)	10	EA		# 7500,00
54	SP	12" Hole for Sign Installation in Concrete	50	EA	\$ 550,00	# 27,500,00
55	SP	Traffic Control – Lane Closure, Multi- Lane Roadway	10	EA	# 3000,00	\$ 30,000,00
56	SP	Traffic Control – Lane Closure, 2-lane, 2-way Roadway	5	EA	# 2750 00	E/ 13.750 00
57	SP	Traffic Control – Shoulder Closure	25	EA	\$ 500.00	# 12,500,00
58	SP	Vegetation Removal at Signs	25	HR	# 175.00	# 4375.00
59	SP	\$1.00 Worth of Material (Cost + 15% per \$1.00)	50,000	DOL	\$1.15	\$57,500.00

TOTAL BID FOR PROJECT: 1846,300,00	TOTAL BID FOR PROJECT:	4846,300,00
------------------------------------	------------------------	-------------

Contractor: GREEN	LIGHT ELE	cTRIC, /L	tc.	
Address: 59 MUN	DY COVE	Ro.	WEAVERVILLE,	NC. 2878
Phone: 828-658	-9922	Federal Id:	56-2108465	3
Contractor's License Nu	ımber: <u>21055</u> -	- <i>U</i>		
Authorized Agent: A	VID RICE		Title: Vice	PRESIDENT
Authorized Agent: DA	CRice		Date: _// - /	-22

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION HIGHWAY DIVISION 13

PROPOSAL

DATE AND TIME OF BID OPENING: NOVEMBER 2, 2022 AT 2:00 PM

CONTRACT ID: 1

12050832

WBS ELEMENT NO.: 36111.1.13

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BUNCOMBE, BURKE, MADISON, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

LOCATION:

VARIOUS

TYPE OF WORK: SIGN REPLACEMENT AND INSTALLATION UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BONDS ARE NOT REQUIRED.

Traffic Control Safety Services Inc

POBOX 24511 Winston Salan MC 27/14
ADDRESS OF BIDDER

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

12050832

WBS Element:

36111.1.13

Description:

Sign Replacement and Installation Upon Request

County:

Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford and Yancey

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid	
1	SP	Mobilization, Type 1 (No Steel Required) for 1-5 Sign Assemblies	4	EA	\$1000.00	\$4,000°	
2	SP	Mobilization, Type 1 (No Steel Required) for 6-14 Sign Assemblies	4	EA	\$1000.00	\$400000	
3	SP	Mobilization, Type 1 (No Steel Required) for 15 or More Sign Assemblies	4	EA	\$100000	\$ 4,00000	
4	SP	Mobilization, Type 2 (Steel Required) for 1-5 Sign Assemblies	4	EA	\$50000	Blocar of	
5	SP	Mobilization, Type 2 (Steel Required) for 6-14 Sign Assemblies	4	EA	\$7500.00	\$3000°°	
6	SP	Mobilization, Type 2 (Steel Required) for 15 or More Sign Assemblies	4		\$2000.00	-,	
7	902	Reinforced Concrete Sign Foundations	50	CY	\$1000.00		
8	902	Plain Concrete Sign Foundations	15	CY	50° 50°	\$ 750.00	00
9	903	Supports, Breakaway Steel Beam	25,000	LB	\$1000	6250000 °°	
10	903	Supports, Simple Steel Beam	5,000	LB	\$1200	\$60,0000	
11	903	Supports, 3-LB Steel U-Channel	1,000	LF	\$8.00	\$ Smoo	
12	903	Supports, 2-LB Steel U-Channel	100	EA	\$7500	\$ 750000	
13	903	Supports, Wood	200	LF	\$1000	\$ acco	
14	904	Sign Erection, Type D	10	EA	\$30000	\$3,000°°	
15	904	Sign Erection, Type E	10		\$ 30000	\$ 3000 00	
16	904	Sign Erection, Type F	10	EA	\$30000	\$ 3000°	
17	904	Sign Erection, Type A (Overhead)	10		\$3,00000	\$30,000°°	
18	904	Sign Erection, Type B (Overhead)	10	EA	\$1,00000	\$ 10,000,	l
19	904	Sign Erection, Type A (Ground Mounted)	70	EA	52,0000	\$140.000.00	l
20	904	Sign Erection, Type B (Ground Mounted)	40	EA	\$ 1.0000	\$40,000 00	ľ
21	904	Sign Erection, Milemarkers	20	EA	5 30000	\$ 6,000 00	
22	904	Sign Erection, Overlay (Overhead)	10	EA	\$10000	\$ 10,000°	
23	904	Sign Erection, Overlay (Ground Mounted)	10	EA	\$1,000.00	\$ 10,00000	
24	904	Sign Erection, Relocate Type A (Ground Mounted)	20	EA	\$1,00000	\$20,000000	
25	904	Sign Erection, Relocate Type B (Ground Mounted)	20	EA	\$500.00	\$10,0000	
26	904	Sign Erection, Relocate Type D (Ground Mounted)	5	EA	\$300°	\$ 1,50000	

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid	
27	904	Sign Erection, Relocate Type E (Ground Mounted)	5	EA	\$300°	\$150000	
28	904	Sign Erection, Relocate Type F (Ground Mounted)	5	EA	16 300°C	\$ 1500 00	
29	SP	Sign Erection, Relocate Milemarker (Ground Mounted)	10	EA	\$30000	63000°	
30	SP	Sign Erection, Relocate Logo to Panel	150	EA	\$10000	\$ 1500000	
31	SP	Sign Erection, Relocate Mileage to Panel	150	EA	\$1000	\$150000	
32	904	Sign Erection, Reposition Overhead	10	EA	\$1000	\$ 1000000	
33	904	Sign Erection, Logo to Panel	50	EA	8500	\$ 2,50000	
34	SP	Sign Erection, Mileage to Panel	50	EA	\$1000	\$ 5/X)00	1
35	904	Sign Erection, Logo Trailblazer	20	EA	\$2500	\$ 50000	1
36	907	Disposal of Support, Steel Beam	40	EA	\$50000	830.000	1
37	907	Disposal of Support, Wood	20	EA	\$1000	\$ 20000	1
38	907	Disposal of Sign System, Steel Beam	50	EA	\$ 100000	\$50,000	1
39	907	Disposal of Sign System, U-Channel	20	EA	\$ 1000	\$ 20000	1
40	907	Disposal of Sign System, Wood	20	EA	\$ 1000	\$ 20000	1
41	907	Disposal of Support, U-Channel	100	EA	\$1000	\$10000	/
42	907	Disposal of Sign, A or B (Overhead)	40	EA	\$ 1000	\$ 100000	DÚ .
43	907	Disposal of Sign, A and B (Ground Mounted)	80	EA	\$1500	\$12,00000	
44	907	Stockpile Sign, D, E, or F	40	EA	\$10000	\$4000	1
45	907	Stockpile Sign, Milemarker	20	EA	\$ 10000	\$ 2000	1
46	907	Disposal of Sign, D, E, or F	40	EA	\$1000	\$40000	1
47	907	Disposal of Sign, Milemarker	20	EA	\$ 1000	\$ 2000	1
48	907	Disposal of Sign, Overlay (Overhead)	10	EA	\$ 1000	\$ 10000	1
49	907	Disposal of Sign, Overlay (Ground Mounted)	10	EA	\$1000	\$ 10000	
50	907	Disposal of Lighting System	6	EA	\$ 200000	412,000	1
51	907	Disposal of Walkway	2	EA	\$ 500000	# ID MOO	1
52	SP	Cutting of Sign Hangers (Overhead)	50	EA	7 2000	\$1,00000	1
53	SP	Removal of Existing Sign Foundations (Ground Mounted)	10	EA	\$ 150 Fm	\$5,000°°	Co
54	SP	12" Hole for Sign Installation in Concrete	50	EA	\$ 1000	\$5,00000	0.00
55	SP	Traffic Control – Lane Closure, Multi- Lane Roadway	10	EA	\$200000	\$5,000 00	
56	SP	Traffic Control – Lane Closure, 2-lane, 2-way Roadway	5	EA	\$ 50000	Pase	
57	SP	Traffic Control – Shoulder Closure	25	EA	\$ 6000	\$15,00000	1
58	SP	Vegetation Removal at Signs	25	HR	\$ 15000	\$3,750°	1
59	SP	\$1.00 Worth of Material (Cost + 15% per \$1.00)	50,000	DOL	\$1.15	\$57,500.00	

TOTAL BID FOR PROJECT:	\$998	.900	Õ
TOTAL DID TOD DDOLLOW	桃()()()	() m)	90
IOTAL BID FOR PROJECT: 🤻	W L L M	\mathbf{M}	

Contractor: Traffic Control Safety Sen	ius Inc.
Address: PO Box 24511 Wi	nodon Salom NC 27114
Phone: 336-771-7676 Federal Id	1: 20122210-7
Contractor's License Number: 69275	
Authorized Agent: Chos Fktche Signature:	Title: General Manager
Signature:	Date: 11-1-22